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B B B IEA 43 36 79 10.0 69.0 500
BB wE ER 37 36 73 4.0 69.0 400
34z TR WE 36 38 74 5.0 69.0 300
AT AN XE& 41 39 80 11.0 69.0 200
541 =H HKF 41 39 80 10.0 70.0 100
6L EMA £iE 41 39 80 10.0 70.0
741 A0 EX 36 41 77 7.0 70.0 90
841 ®E FB 41 38 79 8.0 71.0
9fiz Lk BE 37 41 78 7.0 71.0
104% Z8 EN 44 39 83 10.0 73.0 75
114 Wk HEA 44 41 85 12.0 73.0
124 ZR FH 42 43 85 12.0 73.0
134z mx B4 39 39 78 4.0 74.0
1441 IR IESA 39 39 78 4.0 74.0
1541 NE B 44 39 83 9.0 74.0
164L WE % 43 40 83 9.0 74.0
174 K B— 46 38 84 9.0 75.0
184iz R =X 41 40 81 6.0 75.0
1941 2k AR 44 39 83 7.0 76.0
201z mpE g2 47 42 89 13.0 76.0 75
214 &R ZBA 39 43 82 6.0 76.0
2241 BEx E—- 43 45 88 12.0 76.0
23{i1 F OEX 41 45 86 10.0 76.0
24431 i B 47 40 87 10.0 77.0
25131 AXH EE 44 43 87 10.0 77.0
2613 KE = 44 43 87 10.0 77.0
2741 25 EA 45 44 89 12.0 77.0
281{iz FElR FHE 44 45 89 12.0 77.0
29{iz BA B 44 40 84 6.0 78.0
3011 FR HB—HR 46 42 88 10.0 78.0 75
3141 Il EE 45 44 89 11.0 78.0
3213 kK —Al 44 45 89 11.0 78.0
33fiL Hi# 54 44 47 91 13.0 78.0
3441 B B— 48 38 86 7.0 79.0
35 = B 42 40 82 3.0 79.0
361 T = 41 41 82 3.0 79.0
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